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GCSE MATHEMATICS UNITISED UNIT 2 4352-01

All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
1 1329 5.2 1.5 7 74 100
2 1327 2.9 1 4 73.3 99.8
3 1313 2.6 1 4 64.5 98.8
4 1326 3.7 1.2 5 75 99.8
5 1273 1.1 1.4 3 38.2 95.8
6 1164 1.1 1.2 3 35.1 87.6
7 1273 2.2 1.8 4 56.1 95.8
8 1327 3.3 1.3 5 65.9 99.8
9 1269 2.1 2 5 42.7 95.5
10 1263 2.9 1.3 4 73.7 95
11 1112 0.9 1.7 5 18.1 83.7
12 1202 1.9 1.5 4 47.6 90.4
13 871 0.4 0.7 2 21 65.5
14 1196 1.2 1.4 5 23.7 90
15 1290 1.5 1.4 5 30.9 97.1
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For how much did Gwilym sell the camera?
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9. (Loss =) 6/100 x (£) 150
(=£)9
(Selling price = £150 — £9 = £) 141

QWC: Look for
¢ relevance of work shown

¢ generally correct spelling

e clarity of text explanation (equivalent
statements to those in brackets)

¢ correct use of notation for money (full use
of £ or p as appropriate)

QWC2: Candidates will be expected to
e present work clearly, with words explaining
process or steps
AND
¢ make few if any mistakes in mathematical
form, spelling, punctuation and grammar
and include units in their working.

QWCI1: Candidates will be expected to
o present work clearly, with words explaining
process or steps
OR
e make few if any mistakes in

mathematical form, spelling, punctuation
and grammar, and include units in their
working
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Any correct method for finding 6% of £150

FT ‘their £9° if M1 awarded

Alternative method:

(Selling price =) 94(%) (of original price) Bl
(Selling price =) 94/100 x (£) 150 M1
(£)141 Al

QWC2 Presents relevant material in a coherent
and logical manner, using acceptable
mathematical form, and with few if any errors in
spelling, punctuation and grammar.

QW(CI1 Presents relevant material in a coherent
and logical manner but with some errors in use of
mathematical form, spelling, punctuation or
grammar

OR

evident weaknesses in organisation of material but
using acceptable mathematical form, with few if
any errors in spelling, punctuation and grammar.

QWCO Evident weaknesses in organisation of
material, and errors in usc of mathematical form,
spelling, punctuation or grammar.

Final unsupported statement only gets QWCO
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Sticky Note

The method used by the candidate to find 1% of £150 is correct but their arithmetic is wrong. Their first line strings calculations together with equal signs which is mathematically incorrect. This loses a QWC mark. A lack of explanation of why these calculations are being made also loses the other QWC mark. 
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Sticky Note

Even though an explanation of why particular sums are being done, a 'story' isn't necessary. So the first sentence isn't needed. The line showing the percentage calculations is essential, as is the explanation of what the £9 represents. But the final four lines could have been written as:
Gwilym sold the camera for £150 - £9 			     =£141.










For how much did Gwilym sell the camera?

V7. of E\be ‘;i\.jo

*7:1‘50 > b =t b7 of Y0 =19

£\f>:7 = 1.9 ;é-l_«_\—__{_ @

15]




Sticky Note

The numerical explanation is clear but there is no description of what is being calculated. So one QWC mark is lost.










You will be assessed on the quality of your written communication in this question.
Gwilym bought a camera for £150.
When he sold the camera, he made a loss of 6%.

For how much did Gwilym sell the camera?
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Diagram not drawn to scale
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11.
2x+30=105—-x
3x=175
x=25

(Angle ABC or Angle BCA =) 80(%)
(180(°) — 80(°) — 80(°) =) 20(%)

R AN

RN

M1
Al
Al

B1
B1

Strategy of equating appropriate angles

FT until 2™ error (for equivalent difficulty)
Flax =5 witha#1

Sight of (x =) 25 gains M1ATAL

Otherwise, for an attempt at trial and
improvement to equate the base angles, award
MI1A1 for 2 appropriate trials.

FT ‘their derived x’. Check diagram.
FT 180 — ‘their ABC” — ‘their ACE’

OR 180 — 2 x ‘their ABC”

OR 180 — 2 x ‘their ACE’
provided the base angles are obtained by
substituting ‘their x” and provided the sum of the
base angles is less than 180.

If no other marks awarded,
SC2for45 —x
SC1 for 180 — (2 + 30 + 105 —x)
OR e.g 2x+30+105—-x+ A=180














Sticky Note

This candidate uses the fact that the triangle is isosceles to equate the two base angles, setting up an equation to be solved. However, they are unable to solve the equation despite collecting the x terms in their first attempt and the numbers in their second attempt. Both these steps were correct and if they had been put together then the candidate might have progressed to the final correct answer. 
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Sticky Note

This candidate successfully found the correct answer by a trial and improvement method. 













Sticky Note

This candidate equates the base angles of the isosceles triangle, setting up an equation where like terms are put together correctly on either side of the equal sign. However, 75 is not divided by 3 correctly. Setting out the division sum formally might have avoided this error.










11. The diagram shows an isosceles triangle ABC where AB = AC.
All angles are measured in degrees.

Calculate the size of Bﬁ\\C. [5]

2x + 30° 105° — x

B C

Diagram not drawn to scale











13. Find the coordinates of the mid-point of the straight line joining the points (-3, —6) and (5, 6).
(2]











13. Find the coordinates of the mid-point of the straight line joining the points (-3, —6) and (5, 6).
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13. Find the coordinates of the mid-point of the straight line joining the points (-3, —6) and (5, 6).
(2]
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13.

(1, 0)

B2

Accept (x =) 1, (y =) 0 provided it is clear which
co-ordinate belongs to which variable.

Bl foreitherx=1o0ory=0

OR B1 for a sketch which includes a clear

indication of the midpoint

OR Blfor(—3+5, - 6+6) or equivalent
2 2

OR B1 for sight of 4 or 6 within appropriate

workinge.g. 5—(-3)=8,8/2=4











13. Find the coordinates of the mid-point of the straight line joining the points (-3, —6) and (5, 6).
(2]




Sticky Note

This candidate has drawn a good sketch showing the coordinates plotted on axes. However, they have not marked the mid-point and so were not able to find its coordinates. 










13. Find the coordinates of the mid-point of the straight line joining the points (-3, —6) and (5, 6).
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Sticky Note

An attempt has been made to use the formula for finding the coordinates of the mid-point of a line. However, the coordinates of each point have been added together and then halved, rather than halving the sum of the two x-coordinates and halving the sum of the two y-coordinates.










13. Find the coordinates of the mid-point of the straight line joining the points (-3, —6) and (5, 6).
(2]
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Sticky Note

This candidate has correctly summed the two x-coordinates and the two y-coordinates, but has forgotten to halve each of these two answers.










13. Find the coordinates of the mid-point of the straight line joining the points (-3, —6) and (5, 6).
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Sticky Note

Many candidates did not use the vertical scale correctly. This is a common example of a candidate thinking that one small square represented 0.1 m rather than 0.05 m.
Also, this candidate wrongly joined the points with straight lines rather than free-hand curves.
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Sticky Note

This candidate plotted the points correctly but failed to join them.
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Sticky Note

This candidate plotted the points as bars and so gained no marks for this part of the question.
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15. (a) Use overlay.

Plots B2 Accurate to within one ‘small’ square.
P1 for 3, 6 or 7 correct plots.
Curve Cl Clear mtention. C1 1s dependent on at least P1
being awarded. CO for a polygon.
(b) 2-2 (metres) Bl
(¢c) 0-53 to 0-54 (seconds) B1 Accurate to within one ‘small’ square.

FT from ‘their curve’.
Do not accept 0.55 unless followed through from

‘their curve’.







15. Stefan is practising tennis.

After a ball is hit, a camera records its height at different times.
The results are given in the following table.

Time after ball is hit,

0 0-1 02 0-3 0-4 0-5 06 07
! (seconds)

Height above ground,

22 2:25 22 205 1-8 1-45 1-0 0-45
i (metres)

(a) On the axes below, draw a graph to show the heights of the ball for values of r between
O and 0-7 seconds. [3]

Height above
ground, /
(metres)

b

s

20

1+

1-0

0:5

0 -
0 01 0-2 0-3 0-4 0-5 0-6 Q-7 0-8

Time after
ball is hit, 7
(seconds)

(b}  What is the ball's height above the ground when it is hit” [11
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(¢} Use your graph to estimale for how much time the ball is more than 1-3m above the
ground after being hit. [1]







